FIXED DISPLACEMENT VANE PUMP
FEATURES:

1. Designed with high capacity in all aspects.

2. Special design comsideration has been given to the flow passage
to prevent anti-cavitation. Extreme smooth and quiet in operation,
particularly suitable for in-plant application.
3. Maximum working pressure 1000 psi (70 bar), ideal to use as low
pressure pump in Hi-Lo system because of price and performance. Symbol

4. Viewing form the shaft end, the direction of rotation is clokwise. (R) 50T 150T
3

O How to order

50T, 150T-23-L-R-L- %
1 2 3 4 5 6
Low pressure single vane pump

Displacement cc/rev

Mounting type  F: Flange type  L: Foot type (normal)

Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise
Discharge port position (viewed from shaft end) L: Left side (normal)  R: Right side

Shaft diameter for 50T  None: @22 (standard) 01: 219.05

O O B WIN =

Specifications

. Delivery At No-Load Pressure (Ipm) Spl:;:rgln(ip;?m) Max.
Model  Displacement : Pressure
cc/rev Running Speed (rpm) . (bar)
1000 1200 1500 1800
07 - 9.0 1.2 135 1800 1200 105
12 12.0 14.4 18.0 216 1800 950 105
14 14.6 175 217 26.1 1800 950 105
17 17.0 203 255 315 1800 950 105
19 19.2 23.0 28.8 346 1800 950 105
50T 21 21.1 253 31.7 38.0 1800 950 105 9.5 10.5
23 23.0 27.6 345 414 1800 950 105
26 26.2 31.4 39.3 47.2 1800 950 105
30 30.1 36.1 452 54.0 1800 950 105
36 36.2 434 54.3 - 1500 950 70
40 415 49.8 - - 1200 950 70
48 48.3 57.9 72.4 86.9 1800 900 90
61 61.5 73.8 922 110.7 1800 900 90
150T 75 75.2 90.6 118.2 135.9 1500 900 90 24 25
94 94.2 113.0 141.3 - 1500 900 70
116 116.3 139.6 - - 1200 900 70

P81




FIXED DISPLACEMENT VANE PUMP

50T FOOT TYPE

SUCTION PORT

PT1
a I NI
l%l N

DISCHARGE

%;L

PORT PT 3/4”
201
104 =
28 1.3, 2

2 Pé LA ==
¢ % NN

= =¥

F—50——4=—78—~

~— 90 50—

150T FOOT TYPE

SUCTION PORT
1/2”

PT 11/

‘Ell/r-w

0
—0.036

7

L

ouT

v

DISCHARGE PORT
PT 11/4”

237

=—108.5—
32

M

#30 _§ o2

33 —8.157

i\

}(ﬂ

HM

e 170 ———{
fon Jasl

-
H

o114 ——tf— 66—

50

140

FLANGE TYPE

201 o120
54 ——t=-50—
15 5 90—

/ 4- 11 HOLES

Unit:mm

i Lmh

—
N
’/
[
2 95 for SJ\FT @ 19.05

@ 96 for SHAFT ¢ 22

[
9

Te
=

"y
NS, g
| 8
- RIS
}—70—==—70—+]
ﬁ@ @%L I
224 SPOTFACER b N
1 DEEP
i N& il 1
L*éj‘—-‘j
58 —onfeo— 58 —f
140
FLANGE TYPE unitmm
237
58 50.5 6-213.5 HOLES
17.5{ 5 204
/—E187
ra a1 ®
&;\\ '—-lo? ‘% 1
N | ¥ %
- S :

‘2
I3
4-913.5 HOLES ® L&) " 7
228 SPOTFACER ol S
1 DEEP - © =
o 4 |
d f
150 _J
f=—98.5 —=f=—98.5
225

P82




FIXED DISPLACEMENT VANE PUMP

Item No.

© 0 N o oo B~ 0 N =

— [N _. [N _.
g A O N = O

15A
16

Description

Foot (or) Flange

Seal

Bearing

Shaft

Woodruff-Key

Socket Head Cap Screws
Body

Lock-Pin

"A" Port Plate

Rotor

Vanes

Cam Ring

"B" Port Plate

Bearing

Cover

O-Ring

Socket Head Cap Screws

Specification

22x47x8
620422

NO.607
M10x1.5x20

6200

G75
M10x1.5x30

Q'ty

Item No.

© 0o N o oo B~ 0 N =

- a2 a4 a4 a
a A W N = O

15A
16

Description

Foot (or) Flange

Seal

Bearing

Shaft

Key

Socket Head Cap Screws
Body

Lock-Pin

"A" Port Plate

Rotor

Vanes

Cam Ring

"B" Port Plate

Bearing

Cover

O-Ring

Socket Head Cap Screws

Specification

32x52x9
62052Z

7X7x35
M10x1.5x20

6203

G120
M10x1.5x40

P83




FIXED DISPLACEMENT VANE PUMP

w
o

—~25 = =
N 180bipr S r Sl 1800
Q2 — o —] Qa0 -1800-rpm
L ] o] 1 | = } - T T e
E 15 I 3 n r20erem— 1| 5 20 - ——1 E 25 . =1 1500 rpm
W10 o e 1 000 L == ) 4 —+—11200rpm———
S =] F T 01— 1+ 3 || En L
as 210 ass 1000 rpm_1_
= > r =i - T 14
oo ] O 8 O 10 7
ol 6 5 =3
. = —_
—_ 1
17 55 /, 5 é g - — 7 Sé
P . % I s P
] ] 3® L1 1 ,//; = / /\/-'/,—' S
T e P gl 5] G e B = 3 0 e i sy e 30
__:"j = 20 ///;:"’ 1 25 /‘//’ ul 1 2 E
——1 T 1.5 = e 12 A= 1° 3
= — 1'a % 4 ‘_é‘ = , &
fé 0 S 0 10 20 30 40 50 60 70 80 90 100 0 10 20 30 40 50 60 70 80 90 100
0 10 20 30 40 50 60 70 80 90 105
Pressure (bar) Pressure (bar)
Pressure (bar)
—_ —_ —_ 60
g_w 1 800 rpm g_so I g_ I~ 1ﬂl
= 35} _-_-{ ! | < F~—~t——1__| 1800spm = o \\iMn
= 500 o = ﬁ‘h-"“— = I 17
9O 30 — O 40— 1500 kel ~
2 o e | o W1 e S S P
+ o5 T T ——1 . 000 rpm - - 1 [ ——1_ + 40 -
> ——t--d ]| =] > | 1]
B'zo 1-200-rpr ‘9'30 1200.rpm, -9' e e 1200 l
3 R e e T 3 T2
—t el |~ ——_]
151 "=+ —{— J- 1900 rpm il B B T L T B
20 i e 3 TIte—~L_
20
= T o T
[ 8?‘ — 8 < &/’10 =
L1 -l T L1116 = . 8
=1 °¢ )0 e 1. 8
A=A -1 = 11T 41 . 2 4 L 1-tT18 =
EPs o 40 o G P 40 A T o
==Fr1 b Zo ke 1.z = - e
. - 4 2= = A o —
— =) 2o = A== 4 =
0 =3 P g
= —_ 0 =
0 10 20 30 40 50 60 70 80 90 100 O 10 20 30 40 50 60 70 80 90 100 051020 30 30 30 60 70 85 90 105
Pressure (bar) Pressure (bar) Pressure (bar)

50T-36 50T-40

— 65 — 80
-~ h_*“laoﬂ rpm
L 60 T t—r——L1 S 70
E 2
3 =1 —1 {1500 rpm K i ol B S om_
I ok - — | L 5o T
= B = T~ -{—1—{1200 rpm
84 | o 000
= ———-]—1__ 1200 rpm 5 T—F—9%0rpm |
O 4o it = N N | O 30f T
35 =000 7w
30 TTH 5
g H
Nt o
L1412 © 424 ©
/'/ - 2 2
= atl —1 1 g Do. 16 &0
1 //; -- ""_: -k —-»_-_-__- —
= T e S by i "-_;s_ ) =T—'="F‘- 183
— 0 £ 0 £
0 10 20 30 40 50 60 70 80 90 100 0 10 20 30 40 50 60 70 80 90 100
Pressure (bar) Pressure (bar)

P84




LOW PRESSURE VANE PUMP+
HI-PRESSURE GEAR PUMP

m P>
50T +HGP-2A (3A) G
150T +HGP-2A (3A)

Symbol

O

50T, 150T - 36 - 3 -
1 2 3

-R-01
5

4 6

Model

Vane pump displacement  36: 36cc/rev (see page. 81)

Gear pump displacement  3: 3cc/rev (see page. 129 HGP-2A, page. 131 HGP-3A)
Mounting type  F: Flange type  L: Foot type (normal)

Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

O O B ON =

Shaft diameter for 50T  None: 222 (normal)  01: 219.05

50T+HGP-2A Unit:mm

103.8 258
080 70
063.6 437 104

AﬁOO?\
il
<

70

0

Vs

g]75 ooﬂ \4-M8X1.25P

DEPTH 15

28

14,379

922 % 424

24 %151
D
\y

-

28

4- 911 HOLES / 50 78

Té\_

Y/
L

15

75
137.5

224 SPOTFACER
1 DEEP 90 _|_ 50 58 l 58
140
150T+HGP-2A
1038 220
108.5
100 100
32 z 4 T
S
N\ /e | n
s \&Y J. °
Q - n| 7
a8
,
4- 213.5 HOLES /I 114 J_ 66 150
28 SPOTFACER 140 | s3 98.5 | 98.s
1 DEEP "

P85




HVP-FAI FIXED
DISPLACEMENT VANE PUMP

ouT
Symbol

IN

How to order

HVP-FAI-F-11-R
1 2 3 4
Low pressure single vane pump

Mounting type  F: Flange type (normal)  L: Foot type

Displacement

B WOIN =

Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

Specifications

Opera 0 ara < - 0 PO eio
= A 00 . U O peed D B D O
== Pre e Delivery (Ipm) Input (kw) . Foot | Flange
Min. | Max. | Out In 9
Lk 5 bar | 35 bar| 70 bar| 5 bar |35 bar |70 bar | X “ Type Type
HVP-FAI-F5R 70 5.1 46 37 0.1 05 1.0 900 | 1800 38 1/2 65 56
HVP-FAI-F8R 70 97 89 77 01 08 15 900 | 1800 38 1/2 65 56
HVP-FAI-F11R 70 138 128 1.7 02 1.0 2.1 900 | 1800 3/8 1/2 65 56
HVP-FAI-F13R 70 14.9 138 12.8 02 13 25 900 | 1800 3/8 1/2 65 56
Dimensions
HVP-FAI-L%R 28(57) 2z 32 FOOT TYPE
%m ar N 18 I
|@a &
0T T o]
[ 50.8 28.5
HVP-FAI-F >:<. R 55(57) 147(1429{3) 46 FLANGE TYPE
BT
22 Q
S EE
e = SEE o
| ! I_ & g ° *
gl [k
= 2—#11Hole
| 12 #18x1 Deep

(' )FOR HVP-FAI-3#13R

P86




DS FIXED DISPLACEMENT
VANE PUMP

ouT

Symbol

IN

Low pressure single vane pump
Displacement

Mounting type ~ F: Flange type(normal)  L: Foot type

5 WOIN =

Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

Specifications

Operating Characteristics Running Ports
Max. At1800 rpm With 20 Fluid Speed (rpm) Size (pt)
Pressure Delivery (Ipm) Input (kw)

XD 0 bar |30 bar |70 bar | 0 bar |30 bar |70 bar
DS-11 70 5.0 45 39 0.2 0.55 11 600 2400 3/8 1/2 45 30
DS-12 70 7.7 7.2 6.5 0.3 0.75 15 600 2400 3/8 1/2 45 30
DS-13 70 126 11.8 1.0 0.4 1.05 2.1 600 2400 3/8 12 45 30
DS-14 70 221 216 21.0 0.6 1.65 34 600 2400 3/8 1/2 45 30

Dimensions

DS-%-FR DS-%-LR Unit:mm
FOOT TYPE
85
FLANGE TYPE 67
PT 3/8"0UT| PT 1/2"IN,_ 30 38
7.5 Discharge Suction | 8110 28
I-:—] Port (A) Port f
PT 3/870UT] | T T ()
«E - Discharge _ -_-_S?__.__
-~ Port(B) \ o3
————— 1 1 = 7
n W
m 2 el Q 4+ f ¢
,—r\ 29233 i[ { T y\‘f ///C- )\ :, _ ®
{} N j ::rlﬁ& NEIES & - . l- &J :: ;
i g 25 i i
i 2 RS D)
— ] o[ (T 1T T Py
- H
- 80
2-98.8 Hole, 4t % 10} 28 | 50 29
@18x1 Deep — 60 | 98
123 116

Note: The outlet (B) of the standdrad type is plugged

P87




FIXED DISPLACEMENT
HI-PRESSURE SINGLE
VANE PUMP

Symbol

How to order

PV2R1-25-F-R-A -A

1 2 3 4 5 6
Model PV2R1, PV2R2, PV2R3, PV2R4 (see page 92 VQ-45)
Displacement cc/rev

Mounting type  F: Flange type (normal)  L: Foot type

Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise
Discharge port  A: Upward (normal) B: Downward R: Right side  L: Left side
Suction port  A: Upward (normal) B: Downward R: Right side  L: Left side

1
2
3
4
5
6

Specifications

Running Running .
Max Speed Speed W(T'('gg)ht
Deliver . rpm Deliver rp
Model (ccirev Pr?tfasrl)"e Model (ccirev
PV2R1-06 . PV2R2-47
PV2R1-08 8 PV2R2-53 52.3 19 3.3
PV2R1-10 9.4 PV2R2-59 58.2 :
PV2R1-12 12.2 PV2R2-65 64.7
PV2R1-14 13.7 210 750 9 119 PV2R3-60 60.3
PV2R1-17 16.6 ’ PV2R3-66 66.4 210
PV2R1-19 18.6 PV2R3-76 76.4
PV2R1-23 227 1800 PV2R3-82 82.2 1800 | 600
PV2R1-25 25.3 PV2R3-88 88.3 367 46.7
PV2R1-31 31 175 PV2R3-94 93.6 ’ ’
PV2R2-26 26.2 PV2R3-108 108.2
PV2R2-33 33 PV2R3-116 115.6
PV2R2-38 | 38 210 600 1 233 PpV2R3-126 = 1256 175
PV2R2-41 41.3
178.5 q
PV2R1 DISCHARGE PORT 215 56 695 130 Unit:mm
SUCTION PORT @28 AL “gg e
S B8 g T .25 |
FLANG TYPE T H o @ . Ef J
Pt aF | Y :
SRS R [ :
55253 \4-M8 DEPTH 14mm
4-M10 DEPTH 17mm 95
FOOT TYPE L R 554 DEPTH trom
] R
=
I @
s " :
sgs 5?27 5 %ﬁﬁ

P88




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

PV2R2 232 Unit:mm
FLANGE TYPE = 80 ——=— 87 — .
59
Lo, o T 146
gg%'_l%r;d DIOSCHARGE ‘ 47~
PORT @21 - g @
R11— \__J— /’” Se - \ 2 [.f'”'o;’ocls o =g
- "/‘49 +~n EB> | :, S,"og'( R14
(— ¢ E N L ‘ BEE N /—
© Q "
N . © * - 1 = B N ia ~N
3 7 == — = D—r@r =
T U \Te/ e j
A SN E( - -
=L o J - = —r 2 1345 L
2 a;DEPJ
I—] 120

4-M10 DEP.19 30.2 222 4-M10 DEP.17

FOOT TYPE r_*::'z’f"*

1—'—"'—1r—-]

5

:r' j’ r §
—= ) :
60t 73
ns—-38
PV2R3 o 25 Unit:mm
FLANGE TYPE 90—t 11 2—|
=75 f 213
%%TTI%héa.s B(IJSSTHAQ';%;E L ? =63~ 2 - 181
RI3—— \f/_knéo S S = F4o_°j, o3 .
: TW es ¥ A =
) R 3 L_ ol = O?{ RIS
] . _r‘ S Vai .;Q 3
]E ] *

31
Q

587
pe—— 178

J
/T \jii

~ = 2017.5
427 L—J 326 DEP.1
148

4-M12 DEP.19 30.2 4-M10 DEP.19

Un.a-l
\,

FOOT TYPE 285 ———

90 == 112
4017.5 R —

-
j i 226 DEP.1
E ., i
—1

"
.

| b
76.24-—88 us—J
,3,4,\,1“ N7.5-4—1175

274

217

23
~109.5

P89




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

PV2R1

P90




FIXED DISPLACEMENT
HI-PRESSURE DOUBLE
VANE PUMP

ouT ouT

Symbol

How to order

PV2R12, PV2R23 - ¢ - %% -F-R-A-A-A
1 2 3 4 5 6 7 8

Model PV2R12 (P1: PV2R2, P2: PV2R1) PV2R13 (P1: PV2R3, P2: PV2R1) PV2R23 (P1: PV2R3, P2: PV2R2)
P1: Displacement cc/rev (see page 83)

P2: Displacement cc/rev (see page 83)

Mounting type  F: Flange type (normal)  L: Foot type

Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

P1: Discharge port  A: Upward (normal) B: Downward R: Right side L: Left side

Suction port  A: Upward (normal) B: Downward R: Right side L: Left side

0 N O a A WO N =

P2: Discharge port  A: Upward (normal) B: Downward R: Rightside L: Leftside E: Left upward 45°

Dimensions

PV2R12 Unitmm
FLANGE TYPE FOOT TYPE
SUCTION PORT 0535 N2 DISCHARGE PORTo 21 326 a-ota
16 9 ) 129 80 95 ©28 DEPTH 1mm
e | .
%o o [

DRkl BT )
£l AAl— :3| L 'F]
P Al ~ H

| K r - f# ﬁ;

|_4ﬂ_| \ Ez_g 4-M12 DEPTH 17mm / —tr 1 o) i
2R1 DISCHARGE PORT 015\ 4-M12 DEPTH 19mm 60 | 81 : 1@I |
115 | 48 .__9.5__[._.95_.

75

101.6 Sos

N

2-013.5 ’
A : S
- — : 5?“] 021 DEPTH 1mm AN .
ﬂ N / 5 AN
ré & —

143
L
L ] U]

120

P91




FIXED DISPLACEMENT
HI-PRESSURE SINGLE
VANE PUMP

Symbol

How to order
VQ25-18-F-R-A-A-01
6

1 2 3 4 5 7
1 Model
3 Mounting type ~ F: Flange type (normal)  L: Foot type
5 Discharge port (viewed from shaft end) A: Upward (normal) B: Downward R: Right side L: Left side

7 Shaft type  01: Normal

Specifications

Delivery At No-load

Displacement Pressure (Ipm) Running Speed (rpm) Max . Weight (kg)
Pressure
(cc/rev) )
06 6.2 7.4 9.3 1.2 1200
08 8.1 9.7 121 14.6
vQis 11 1.2 13.4 16.8 20.1 10.3 127
14 14.3 171 215 25.7
17 171 20.5 25.6 30.7 1800 230
19 19.2 23 28.8 345
23 23.3 27.9 34.9 419
VQ20 26 26.1 31.1 39.1 46.9 123 17
31 31.1 37.3 46.6 - 1500 200
38 38.1 45.6 - - 1200
18 18.1 217 27.2 32.6 800
22 22.1 26.5 33.2 39.8
va2s 26 26.2 31.4 39.3 47.1 16.7 214
32 32.1 385 48.1 57.7
38 38.2 45.8 57.3 68.7 1800
43 43.2 51.8 64.8 77.7 230
47 47.1 56.5 70 85
52 52.3 62.7 78.4 94.1
svQ25 60 60.2 72.7 90.3 108.3 23 31
65 65.3 78.3 97.9 117.5
75 75 ) 1125 — 1500
60 60.3 72.3 90.4 1085
66 66.4 79.6 99.6 1195
va3s 76 76.3 91.5 114.4 137.3 36 44
82 82.2 98.6 1233 147.9 1800
88 88.3 105.9 132.4 158.9
94 94.5 113.4 1417 1701
SVQ35 108 108.2 129.8 162.3 194.4 a3 a1
116 116.1 139.3 1741 208.9 600 200
125 124.6 1495 186.9 — 1500
VQ45 136 136.8 164 204 246 52 60
156 156.2 188 234 280 1800
svVQ45 189 189.5 227 284 340 66.5 945
200 200 240 300 360
216 216 260 324 -
DVQ45 037 P i 355 - 1500 61 89

P92




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

vQ15

FOOT TYPE Unit:mm
DISCHARGE PORT D15 13 7 . 2-@11 HOLES
SUCTION PORT @308 4-M8X1.25P 18 SPOTFACER 1 DEEP
\ ]_-- 2 DEPTH 17 ) =
H - & E T ] 1 1 ]
1 i
; \ J— -—-—»g
'+ \J = (=1
L &/ Gl 08
il IS - |
= [ 50 |_56.5 P los | I
S 175 L 2w 95 |75 72.5 725
4-M10X1.5P-DEPTH 17 180
11-Teeth Spline 3/4"
 (19.05) DIA 30% 2 B |C
angle flat root side fit NO.01-Shaft|219.05(|21.24|4.76|
176
565 25 a B NO.03-Shaft|  Spline shaft | :gg
23 9%
9 o i o o H 1< 5 ——
o 32 ﬁ\
N ﬁ | - g 0
o0
2 i frany Pan 7an
0~ 0 QY7 \u e
2
] 24211 HOLES
| ©18 SPOTFACER
1 DEEP
VQ20 FOOT TYPE Unit:mm
DISCHARGE PORT @ 19.05
13_._ 12 45
SUCTION PORT @ 31.75 _ 197.5 4-0 13.5 HOLES
\ ] o5 67 021 SPOTFACER 1 DEEP
o9
: ~
= /—E
[~ - —_—|
= =
;.E .
b | o~ -+
“\_ 4-M10x1.5P- DEPTH 17 ‘T’ ‘ T
60 | m 120 o
222 [ us 38 95 __| 95
230
A B | C
197.5 174
NO.01-Shaft| 622.23| 24.5 [4.76
67 28 59.5 4 o 146
T o o NO.02-Shaft| @25.4 |28.18/6.35
B
@ NO.03-Shaft| 222.23 |24.94 6.35|

120

=
.
i
i
/

01016 90s

7R\
(&)

D
Ny
S
7/

|
_a_, I 2-0 11 HOLES

© 21 SPOTFACER 1 DEEP
ot

P93




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

VQ25 FOOT TYPE Unit:mm
DISCHARGE PORT @25 13 32 45 222 4-@13.5 HOLES
SUCTION PORT @38 \ ) 83 38.1 595 @21 SPOTFACER 1 DEEP
] s‘ I |
E oo —
(9]
=
. 3)\" ,_[] S
D\I .\ \ v. )
2 U \v7) M o
&) ' | g
= S
| | ~
: T|tr T | —
35.7 e 4-M10X1.5P DEPTH 17 | @ b | ok ] "
4-M12X1.75P DEPTH 19 ns | 38 95 |95
40.7 230
&
:‘?‘.I A B | C
,6,323_p__,3,ee,h NO.01-Shaft|22.23| 24.5 |6.35
30°pressure angle fiat NO.02-Shaft| ©25.4 |28.18|6.35
roof side fit.
222 NO.03-Shaft| @30 | 33 | 7 , 171
[ 83 ,.38.1 59.5 Al o NO.04-Shaft Spline shaft
! ’ o3| <5 NO.W-Shaft| 028 [30.8[6.35
LT <= —
50 N
R 46 3
= 4 N
-] - }|_ o
9 d o
5 &
[S)
@ 2.913.5 HOLES
@21 SPOTFACER
1 DEEP
95---14l
sSVQ25 FOOT TYPE Unit:mm
DISCHARGE PORT P1 @25  4-M10X1.5P-DEPTH 18 238
4- @N7.5 HOLES
SUCTION PORT @ 39 —~ 83 381 59.5 @26 SPOTFACER | DEEP
] §
9%
(&)
Va o
N

'\%
)

207

! -
S J I P&
& & @
] P
{ i 32 o~ =)
35.7 g 73 [ 151
4-M12X1.75P-DEPTH 19 262 407 345 I.H?.s ++11?.5J
131 .
16/32 d.p. -13 teeth
307 pressure angle flat
root side fit.
A B | C
NO.01-Shaft|@22.23| 24.5 |6.35
NO.02-Shaft| 825.4 |28.18/6.35
238 211
NO.03-Shaft| @30 | 33 | 7
83 38.1 59.5 5 ¢ NO.04-Shaft Spline shaft 181
23| 395 NO.W-Shaft| o28 |30.86.35
1 1 1 << o
I’g ) /v\
i +7 R an) Py
5 2 LN 27
a ~
‘la“ 2.317.5 HOLES \/
- @26 SPOTFACER 1 DEEP
9.5

P94




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

VQ35 FOOT TYPE Unit:mm
DISCHARGE PORT @30 21 285 4-@17.5 HOLES
SUCTION PORT @ 56 \ jl_ %0 - @26 SPOTFACER 1 DEEP

\
T
Cgoﬂ

.
Ty
\y

58.7

=
@

40

§T
i

N\
B
5
23 |
109.5
217

o~
\ < N\ 4-M10X1.5P-DEPTH 19 O T 1 £ T
429 9 1762 | |88 | 151 |
30.2 28 50 117.5 |, 117.5
4-M12X1.75P-DEPTH 19 79 137 2
M 2.3x45°
R A B |C
| 2 NO.01-Shaft|831.75 |35.32|7.95
l NO.02-Shaft| 834.9 |38.56(7.95 213
12/24 d.p.-14 teeth -
279 = o = 30°pressure angle fial NO.03-Shaft| Spline shaft 181
b 90 1 ]275 og‘ °3 root side fit.
e N T T < o0 [ ——)
” T i —— 63 I

=] ﬁ 46

= o ||y 2

- = % D 3
= = = L/ =
3 ® O
% 2-@17.5 HOLES
! — @26 SPOTFACER 1 DEEP —

SVQ35 FOOT TYPE Unit:mm
21
DISCHARGE PORT @30 9
SUCTION PORT @56 J— — 278 4-317.5 HOLES
2 =
/o o3 97 112 @26 SPOTFACER 1 DEEP
] |k = >
o ™~ E- Y ]|' h
= RAVAEN ] |
s S 3 —Hr 3=
STV WA : i 5
\alng & f )
% \— 40 . 0 ~ =
L il 4
T T T
= 1762 |88 | I 51 | g
42.9 F 50 1175 | 1175
30.2 131 ' 274 ‘
4-M12X1.75P-DEPTH 19 \ 4-M10X1.5P-DEPTH 19
278 A B 213
97 112 NO.01-Shaft| ©31.75 | 35.32 181
[ | | NO.02-Shaft| 834.9 |38.56
75 gl =
sq| ==
- s : ;ﬁr n - 1“ 63 < -] ) —
J e
o~ 1: I 0 1
R )
E N ~ m Yy g
= ] o zJ, U T -
= 3 Q |/
l 2-@17.5 HOLES
A @26 SPOTFACER 1 DEEP —

P95




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

VQ45 FOOT TYPE Unit:mm

4-M16X2.0PX19 DEEP DISCHARGERORTIDIE

SUCTION PORT @75 236 4-2517.5 HOLES
SUCTION FORT 2R -217.
z ©26 SPOTFACER 1 DEEP
E L\ 5| 8 1102 135
7% ) L ool = I T
Pt : —4 (IR 3|2 E_ T 1
\ er .&J : o | Q ‘ ’L
2
: 9 =1 ©—=HE {09\ —5
' | —| o~
- k-j \./ > -,
O+ g 1 s
i N I o -
ﬁ & | S - Ik i 4
4-M12X1.75PX19 DEEP 12621 ps Ll 151_|
519 _ 159 1175t 1175
35.7 131 274
336
110.2 135 211
‘ [ s2 83 181
I
— 1 1 | | I_I_}_I_I ~
! H i
) i i ' ’_]_ 70 = (
o e 2-@17.5 HOLES
& @ ©26 SPOTFACER 1 DEEP
L b
s| 1A \ 2
2 - &
3 L :
3
13 1
DVQ45 , FOOT TYPE Unit:mm

4-M16X2.0PX19 DEEP

—
SUCTION PORT @75 \ 61.9 r§5_1 4-©22 HOLES
: | 1 ©43 SPOTFACER | DEEP

69.9
9.54*30n

Tal

il
<
i

327.3

3
ITT b3
4-M12X1.75PX19 DEEP/
N [L1143 280
DISCHARGE PORT @338 = 374.6

185 438

337
m 126 273

e =
3
B

Ty
)
038,]{3021
42.36'018

115

218

228.6

@152.4°8 05

teo

@39 SPOTFACER
1 DEEP

P96




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

SvVQ45

P97

115

13
4-M16X2.0PX19 DEEP —
SUCTION PORT @75 619 35.7
I =
'l — o o
3 =
™ o
< N — |
1T\ ‘ S
4-M12X1,75PX19 DEEP
p—
DISCHARGE PORT @38
390
166.5 131
50 81
8
= =
1 o
] AH 65

F O

FOOT TYPE Unit:mm
4-@22 HOLES
©43 SPOTFACER 1 DEEP
PTZI :
Pacy
>
o™
m ™
~
=
4 —
L1143
39 374.6
185 438
2
oq —
0
- o
o~ -
-t —
3 0
?O- d
- o™
o o~
Ly
1]

4-@22

@39 SPOTFACER

1 DEEP

Description

Retainer Ring
Seal

Bearing
Shaft

Key

Housing
Cartridge Kit
O-Ring
Cover

Cap-Screw

O-ring & Endless Back-up Ring

O-ring & Endless Back-up Ring

R47

22x47x7

6204

G85

M10x1.5x85

P36
71.5x3.5

VQ25 (SVQ25)

R52
30x52x11

6205

G100

(VQ25) M12x1.75x110
(SVQ25) M12x1.75x120

P46
90.2x3.5

VQ35 (SVQ35)

R72

(VQ35) 35x55x11
(SVQ835) 38x72x12

6207

G135

M16x2.0x130

65.5x3.5
G115

VQ45 (SVQ45)

R85
50x85x10

6209

G140

(VQ45) M16x2.0x160
(SVQ45) M20x2.5x160

G80
G130




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

vQ15

P98




FIXED DISPLACEMENT
HI-PRESSURE SINGLE
VANE PUMP

@: Symbol

) How to order

HVQ20, DVQ20-4-F-R-A-A-01
1 3 4 5 6

2 7

1 Model

3 Mounting type  F: Flange type  L: Foot type

5 Discharge port  A: Upward (normal) B: Downward R: Right side L: Left side

7 Shaft type 01: Normal

Specifications

Displacement
gl (cc/rev)

4
6
8 420 480
11
14

HVQ20

Max. Pressure (bar)

3000

2500

2300

17
19 380 400
23

1800

18
22
26
32
38 280
DVQ25 43 230
47
52
60

65
75

250

1800

1600

Running speed (rpm)

800

Weight (kg)

18.1

231

18

23

P99




FIXED DISPLACEMENT
HI-PRESSURE SINGLE VANE PUMP

HVQ20 FOOT TYPE Unit:mm

Suction port 925 .4, -—'1—r~—g Discharge port 213 4-013.5 HOLES
—\ — J_ o 21 SPOTFACER 1 DEEP
~o°%
N /5%
o

s |
i oi=

oe
s
L L]
4-M8x1.25P-DEEP 14
18.2
4-M10X1.5P-DEPTH 19
40.7
24.5 A B c
r 1.5 NO.01-Shaft |@22.23| 25.01 | 6.35
——
2435 h NO.03-Shaft Spline shaft
181 -
68 ., 29 =
l' g | = B Shaft Code 3 | ‘1:‘;
! ll - o SAE B-B splined shaft '
I I 2 ] = Class 1-J498 b 16/32 d.p.
o ] |-—- Sl 3 s -13 teeth 30° pressure
8| N 23 S
% —t = < angle flat root side fit. =
] — - ] — o
= 5 J 2 N
)
| 2-013.5 HOLES
- ©21 SPOTFACER 1 DEEP
FOOT TYPE Unit:mm
45
== 4-0 13.5 HOLES
3 @ 21 SPOTFACER 1 DEEP
12 ||F9
o
=
a

[
A
RE
A 15—"—"] 12

A B ©
NO.01-Shaft | 22.23 | 24.5 | 6.35
NO.02-Shaft | @25.4 |28.18|6.35
NO.03-Shaft | 830.0 | 33.0 | 7.0 |} 171

83 381 595

i‘g ?5 NO.4-Shaft NO.04-Shaft Spline shaft
i O < = 16/32 d.p. -13 teeth |[NO.W-Shatt | 028.0 [ 30.8 [6.35
) ‘(‘@’ 50 30° pressure angle
N 46 _2| flat root side fit. ~
i | — = N

2-@ 13.5 HOLES
@ 21 SPOTFACER | DEEP

ﬁji
e

P100




FIXED DISPLACEMENT
HI-PRESSURE
DOUBLE VANE PUMP

Symbol

How to order

VQ215-18-6-%-R-A-A-A- 3%
1 2 3 4 5 6 7 8 9
1 Model

3 P2 Displacement cc/rev

5 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

7 Suction port  A: Upward (normal)  B: Downward R: Right side L: Left side

R1: Right upward 45°  R2: Right downward 45°  L1: Left upward 45°  L2: Left downward 45°

Specifications

P1: Displacement P2: Displacement Max. Pressure Weight (kg)
(cc/rev) (cc/rev) (bar)
vVQ215 24 29
18,22,26,32,38,43,47,52,60,65,75 6,8,11,14,17,19,23,26,31,38
sVQ215 32 40
VQ225 18,22,26,32,38,43,47,52,60,65,75 18,22,26,32,38,43,47,52,60,65,75 30.6 355
VQ315 48 55
60,66,76,82,88,94,108,116,125 6,8,11,14,17,19,23,26,31,38
sSvQ315 44.4 52
VQ325 60,66,76,82,88,94,108,116,125 18,22,26,32,38,43,47,52,60,65,75 pas 50 58
VQ425 63 71
SvQ425 136,156,189,200,216,237 18,22,26,32,38,43,47,52,60,65,75 80 111
DVQ425 73 104
VQ435 76 93
sVQ435 136,156,189,200,216,237 60,66,76,82,88,94,108,116,125 91 122
DVQ435 84 115

P101




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

VQ21 5 FOOT TYPE Unit:mm

DISCHARGE PORT P1 @25 -

SUCTION PORT _ @56 | | N\
———

=" [
e
SRR P

]
+0
C .0.021

77.8

|

4-M12X1.75P DEPTH 19 | gz 262 =
-MI2X1. & U
\ 4-M10X1.5P DEEP 18 [ 1
40 73
222 Sy 4-913.5 HOLES
DISCHARGE PORT P2 019 —~t 79 ©21 SPOTFACER ns 8
L1 1 DEEP 230
g 1.5X45°
3 |1.5X45°
'4[ i Q
4-M10X1.5P DEPTH 19 § A B C L
16/32 d.p. -13 teeth NO.01-Shaft| 822.23 | 24.5 |6.35| 61
30° pressure angle flat 171
— root side fit. NO.02-Shaft| 825.4 (28.186.35) 61
NO.03-Shaft| @30 | 33 | 7 |68 )
110 80 38.1 L T
?g_- ‘35 NO.04-Shaft Spline shaft 7/8" [ ——]
I [ —1 =1 <| @ ,V N\
S -1 \ N
3 :’ AV f“\ :'f\\ -]
:.tl : | =1 1% 82 () Srg i
= 2-913.5 HOLES ~
& 021 SPOTRACER A/
_E_ 1 DEEP —t—
9.5 425
SvQ215 FOOT TYPE Unit:mm
4-M10X1.5P-DEPTH 18 a7 a5
SUCTION PORT @56 R— 4-517.5 HOLES
I
\ 5 88 101.6 026 SPOTFACER 1 DEEP
i o _
\ 18] 1 5
[ 34T ~
> - ~
B\ o e N
_¢ ] ot
1 o
/ I o~ =
. [ |
/ 76.2 73.5 151
4-M12X1.75P DEEP 19 50.8 - '
DISCHARGE 40.7 35.5 117.5 117.5
PORT P1_@2. 7.9 131 274
222
1 DISCHARGE PORTP2 @19 1.5X45°
< ESED o
5 §
& [5)
N 4-M10X1.5F DEPTHAS. 16/32 d.p. -13 teeth A 5 et
30°pressure angle flat
roof side fit. NO.01-Shaft| 22.23 | 24.5 |6.35 61
257 _ NO.02-Shaft| 825.4 (28.18/6.35) 61 218
88 101.6 38.1 L 8 = v
o 23| o3 NO.03-Shaft| @30 | 33 | 7 |68 =
[ 1o < = NO.04-Shaft Spline shaft 7/8"
S
a 32
=]
==
Z Bl = 8 s
A d N
_— [ R
)
a 2-@17.5 HOLES
3 @26 SPOTFACER 1 DEEP

P102




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

DISCHARGE PORT :F_‘?
P2 @245 SUCTION PORT @ 56 358
N\ 109 109
\ A I3 =y an TNy
8 & i
o| o n
4 8 \k_/
—@- L=
3
4-M10X1.5P/ ?6-3 50.8
DEPTH 18 4-M10X1.5P 4-@13.5 HOLES
amiax1gsp | DISCHARGE PORT DEPTH 18 @21 SPOTFACER
SEFT I P1 @25 1 DEEP
40.7 45.5
79 79
245 NO.4 2 NO.5
| 1.5x4s° =,
l: l::~'—‘5’“‘5 A B | C
16/32 d.p. -13 teeth 16/32 d.p. - 15 teeth NO.01-Shaft| 22.23| 24.5 6.35
30°pressure angle fiat 30°pressure angle fiat NO.02-Shaft| 25.4 |28.18(6.35|
DA i NO.03-Shaft 230 | 33 | 7 =
358 NO.04-Shaft| Spline shaft 7/8" 146
109 109 38.1 &1 NO.05-Shaft| Spline shaft 1"
= 1
32
R T T 4 § {
R W AR & @3 @ *
= |- - 8
i S %
L_ << @ o ®
8 2.013.5 HOLES I
- @25 SPOTFACER 1 DEEP
VQ315 FOOT TYPE Unit:mm
DISCHARGE PORT P1 @30 2
SUCTION PORT @78.5 ° ) 385 4.@17.5 HOLES
\ ] . 120 122 . 113 @26 SPOTFACER 1 DEEP
DISCHARGE PORT . 5 =
P2 @9 } ‘.‘g T T T | |-“1
~ d
- ' | P~
e o e = - : &~
M~ o =T 5
i AN W [H | B\
1 - 2
I8 .}. —
A A M :
] i - " . Vs }
17.5 |76.2 | |88 l._ 1
4-M10X1.5P DEPTH 19, | 1.9 131 50 117.5 175
4-M16X1.75P DEPTH 19 30.2 -
4-M10X1.5P-DEPTH 19
A B
370 NO.01-Shaft| 231.75(35.32| 213
120.5 115.5 13 gl = NO.02-Shaft| 5634.9 |38.56 -
- 1 - v os | o3
| | 38 75 <| @
y — [~ T E I [ ———
I | | | BN 63
s
& ﬁl g | L—_ 20 2| &
I =3 o
2 o 2
- e 1/ =
& | o
2-@17.5 HOLES
« - / @26 SPOTFACER 1 DEEP . £

P103




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

SVQ315 FOOT TYPE Unit:mm
21
DISCHARGE PORT P1 @30 os . 380 4-017.5 HOLES
sucnou PORT ©78.5 — 120 122 112 ©26 SPOTFACER 1 DEEP
DISCHARGE PORT _\ g -—
“re ] g@ i % - |
&
™ P ~
W=
o= {J K / g o~ =)
Lo Lbs | i
B 117.5 | 17.5
274
30.2
A B
380
=l = NO.01-Shaft| 231.75|35.32 : 214
gl =
(-0 22 " 112 o2 o8 NO.02-Shaft| 34.9 [38.56| | . 181
| 37 75 <| @
|
T i L —_— .. - - T
{ : ' & =
111 -
. 5 I n = 3[® Q
— =g \ -
= = S|t fan sl 2
= = 8 \Vj R34
& - 2.917.5 HOLES
©26 SPOTFACER | DEEP
= = “ 3 —r—
VQ325 FOOT TYPE Unit:mm
DISCHARGE PORT P1 @30 . g 403 4.917.5 HOLES
I 1385 1155 _ 112 ©26 SPOTFACER 1 DEEP
SUCTION PORT @78.5 ] —
\ J] °§ ? =TT
F | ~ o g%
_;§\\ I8 2 —Ll, .
3 RNY/M — 8
o h w
Ty A\ = g : :
.f LZ 1 -
i

40

L
T

76.2 88
131 I 50

PORT 619 e
P20 245 v 4-M10X1.5P-DEPTH 19
4-M10X1.5P '[ —
DEPTH 18 S 4-M16X2.0P-DEPTH 19
v|
ﬁ o
w
403 A B
195, 1155 ”2?5 NO.01-Shaft| 331.75 |35.32 213
‘ NO.02-Shaft| 34.9 |38.56 181
: 63
I = l 47 E ©
i | d o5 | o3
o : ! ) <| =
o ' i [ ] g
g L 4 — rN-. s [ . R §
J.l S A 37 I
!L . ; 2.917.5 HOLES e
13 726 SPOTFACER 1 DEEP

P104




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

vVQ425 FOOT TYPE Unit:mm
DISCHARGE PORTP1 038 13
SUCTION PORT @ 85 ‘ . 445 4.817.5 HOLES
\ 154 T 26 SPOTFACER 1 DEEP

..

\.,—E‘i_%
T
A] 699
9.54*3 02
ety

2L

o
P

>
QY

=

N
; :
109 5_,[

[

AN {H i
1 1 1 T
= 17621 s | 151 |
35.7 ! } }
159 | 1M7.5 1. 7.
|4-M12X1.75P-DEPTH 20

131 274
4-M16X2.0P-DEPTH 19
154 119.4 52 83 = 211
. S
| ! 67 23| o3 181
—L | [ 8|3
o IRER el %
N ' | i Vi -
S ! 1 r 8 ©
I ) — x ° o
% g f‘_" - ~
- kl)’ _r s ;—
# _l 2-©17.5 HOLES
s - y ll 3 ©26 SPOTFACER 1 DEEP
SvQ425 FOOT TYPE Unit:mm
5125
SUCTION PORT @ 86 2 18 4-022 HOLES

-\ - 1625 1815 50 811 . 443 SPOTFACER 1 DEEP

S =
oa| %2 50 g
u 3| @ L]
o 8 =14 Tl < . * 1
L —— g2 — 8 /‘\
8 ds| \ T D — TS Pan) &
- = »/ = ¥ - MANG AR
8 0 r~
4 & RN Pt
f 3 < @ e | I T
(a2
DISCHAGE PORT P1 @38 Q 280 &
4MI6X2.0P-DEPTH19/ | 69.9 35.7 4-M12X1,75P-DEPTH 20 374.6 B
438
DISCHARGE PORT P2 @ 24.5
:I@% 4-M10X1.5P_DEPTH 19
0wy
26.2 512.5 O 273
162.5 181.5 50, 81 A 228.6
29|o5
—t ol 2
&5 ol o
P’\ /V- e g 2 R £
2| w :! h 7
== 55 4
[ 2s
8 ) 3 =
- - N | - g B . B ‘N\‘
Ll -
L (e i . X
- s T
3 4-@22 HOLES
— ©39 SPOTFACER
1 DEEP

P105




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

DVQ425 FOOT TYPE Unit:mm
457.5
f 4-922 HOLES
SUCTION PORT & 86 30 3 = & 164 129 81.3 54 =43 SPOTFACER 1 DEEP
- >
w @ ra@
! _ F =)
# < 3 - [
—
o s I\ — Py ! o
& 1811 W f=H | ¢ I ' S
| ™
D - = - :
| "2<4 3 . -
DISCHAGE PORT P! @38 i | —
4-M120175P-DEPTH 20 280 o
4-M16X2,0P-DEPTH 19 69.9 35.7 114.3 2
| 374.6 I
185
DISCHARGE PORT P2 @ 24.5 438
~ e% 4-M10X1.5P DEPTH 19
Iﬂ_
457.5 0 273
] = ng
164 129 43 , 83 es g5 I 228.6
(= 0 P
g 2 2 ——
T 87 8 - @& o 77
N\ T Nz &
gl = :g-
o) &= 55
) Pany ' / ﬁl\\ <
o >
= ) N7 " &
} @ &
- /
N3 4-@22 HOLES ™\
@39 SPOTFACER 1 DEEP
VQ435 FOOT TYPE Unit:mm
21 13
SUCTION PORT @ 101 _ 4.017.5 HOLES
— g Q§ 5183 @26 TFACER 1 DEEP
$% 37
@ R i
O 1
o haa = .
_ _8 | : e _fw
A
o s
<2 N2 = B *
DISCHARGE PORT P1 938 762 95 | 151 |
4-M16X2.0P-DEPTH 19/ | 77.8 35.7 4-M12X].75P-DEPTH 20 131 159 | I
274
DISCHARGE PORT P2 @ 30
W
]
~
4-M10X1.5P-DEPTH 19
30.2
506
: 179 136 51 83 § = 21l
| | g 2% 181
‘l’ T v 67 ; ;9“
T1 _ Moo
e A =<
P LY 55 o a
1 — X : éh/ ‘\
ﬂ D N Pn) A
] ~ & =
5]
2.017.5 HOLES
@ @726 SPOTFACER 1 DEEP
— I3

P106




FIXED DISPLACEMENT HI-PRESSURE

DOUBLE VANE PUMP

SVQ435 FOOT TYPE Unit:mm
28 13 4-922 HOLES
SUCTION PORT @ 101 t _ I 556 ©43 SPOTFACER 1 DEEP
s 8 179 189.5 813 |475
x ©l = '
£ 3 8 -
PR | 8 —
o~ [ \ I el
- —dL = H Jré—' ff\ 5 Vs ~
& N = © AL
Nl =
) —4 : o + + T
/ = — Oi
amex2or [/ | 778 B o B 327206 8
: : : 357 :
S DISCHARGE PORT P L‘ 438
4-M12X1.75P-DEPTH 20 238
DISCHARGE PORT P2 @ 30
;]: 4-M10X1.5P-DEPTH 19
wy
SIS o273
556
179 189.5 50 . 81 5 = 2Bl
2233 ——
7 —_ (-2 3|3 > B
M~ X =
=11 C')?\ \ / Sl = \1 :
== 55
= 55 P /’ \
AR S N =
J 8 N §
5]
4-@22 HOLES
L @39 SPOTFACER %L’ i £
L3 1 DEEP N
DVQ435 FOOT TYPE Unit:mm
501
SUCTION PORT @ 101 30, 13 179 136 43 83 4-922 HOLES
- = 57| ©43 SPOTFACER 1 DEEP
?3 93 = &
: - 33 |
pel=t HESOEEE | [
H il Fad o
17— D — C D = Panl o
TN Nl 5! 5= PN
b— O] L~ ~
= > s il s . 2
/ ) § | 280 _%t
3
Amigx2.000ePTH1Y/  |_77.8 35.7 \DISCHARGE PORT P1 038 ’ 3.,7326
DISCHARGE PORT P2 @ 30 4-M12X1.75P-DEPTH 20
] 4-M10X1.5P-DEPTH 19
n
30.2
501 0273
X 179 136 43 ,_ 83 § = 228.6
l eg o9
- w0
_ 1 - l K — 67 é g —T— \C
c,J ZSaY \L / i k
2= i 55 ]
i P =
< ©
8
s X 4-922 HOLES

P107

@39 SPOTFACER 1 DEEP




DOUBLE LIPS AND PISTON
TYPE SINGLE VANE PUMP

Symbol

How to order

KT6C, KT6D, KT6E -014-1R00-B 1
1 2 34 5 6 7
1 Model
2 Cam ring
3 Shaft type
4 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

02 03
P P

— P=Pressure port
s S=Suction port

1=S1 (for mineral oil) 4=S84 (for fire resistant fluids) 5=S5 (for mineral oil and fire resistant fluids)
WEIGHT KT6C: 15.7kg KT6D: 24kg  KT6E: 43.3kg

00 01
4 S P
5 Porting combination ~ 00=normal % %
S

6 Design letter

7 Seal class

Specifications

T (— Dis(lﬂg/?:c;em Delivery (Ipm) At 1500rpm Input Power (kw) At 1500rpm sng'(':gm) Pr“élé\sxdre
p=140 bar p=240 bar p=140 bar p=240 bar

003 10.8 16.2 1.2 7.7 13 5.3 8.4

005 17.2 27.0 21.0 18.0 14 75 122

006 213 31.9 26.9 23.4 15 8.9 14.7

008 26.4 39.6 346 314 16 107 17.7

010 34.1 51.1 46.1 426 17 13.4 223

012 37.1 55.6 50.6 47.1 17 14.4 24.1 2800 300
KT6C | o014 46.0 69.0 64.0 60.5 1.9 17.6 295 600

017 58.3 87.4 82.4 78.9 2.1 21.9 36.9

020 63.8 95.7 90.7 87.2 2.2 23.82 40.2

022 70.3 105.4 100.4 96.9 23 26.1 44.1

025 79.3 118.9 113.9 110.4 25 29.2 495

028 88.8 133.2 128.2 125.8 2.8 32.7 485 2500 230

031 100.0 150.0 145.0 142.6 2.8 36.5 54.4

Port connection can be furnished with metric threads, normally UNC.

P108




DOUBLE LIPS AND PISTON TYPE
SINGLE VANE PUMP

Specifications

o Delive . A 00 rp put Powe A 00 rp PeEC 2
ode arie o
p=0 bar p=140 bar | p=240 bar |p=7 bar p=140 bar | p=240bar, Max. | Min 038
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2 87.3 78.0 71.8 25 22.2 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9 2500 280
KT6D 031 98.3 147.4 138.1 131.9 3.3 36.2 61.0 600
035 111.0 166.5 157.2 151.0 3.5 40.7 68.7
038 120.3 180.4 1711 164.9 3.7 43.9 74.3
042 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045 145.7 218.2 209.2 203.0 41 52.8 89.5
050 158.0 237.0 227.7 224.0 4.4 57.0 85.0 2200 230
061 190.5 285.7 278 - 4.6 60.6 - 140
Port connection can be furnished with metric threads, normally UNC.
o Delive o A 00rp put Powe o PEC 2
ode erie :
p=0 bar p=140 bar | p=240 bar |p=7 bar p=140 bar |p=240 bar, Max. | Min L
042 132.3 198.5 188.5 181.3 5.2 49.4 82.6
045 142.4 213.6 203.6 196.5 5.4 52.9 88.7
050 158.5 237.7 227.7 220.6 5.7 58.5 98.3
052 164.8 247.2 237.2 230.1 5.8 60.8 102.1
KT6E 057 180.7 2711 261.1 254 6.1 66.4 106.9 2300 600 280
062 196.7 295.0 285.0 277.9 6.4 71.9 121.3
066 213.3 319.9 309.9 302.8 6.7 77.7 131.2
072 2271 340.6 330.6 323.5 6.9 82.6 139.5
085 269.8 404.7 397.7 - 7.3 97.4 - 2000 120

Port connection can be furnished with metric threads, normally UNC.

P109




DOUBLE LIPS AND PISTON TYPE
SINGLE VANE PUMP

KTe6C Unit:mm
233
174.5 161.6 714 0
82.3 38.1].9.7 KEY 6.35 .o,
1 1 [ i M8 x 16 DEEP
i 1 I
9 ] 38.1
= .
= [
o
- 17 = Shaft Code 1
- é % (Keyed SAE B)
|
‘ s m o §|3
221 SPOTFACER r(OUNTING TORQUE 117ft.Ibs & &
(159 Nm)
12.7
= KEY 4.762 *00s
569 _ g 455 40.7 35.8 262, %2
B < ® M 245 24.5 ] 1k
318 |8l I’“ 1 i 1 318 R Shaft Code 2
L = A S (keyed no SAE)
= HE- HfE 4 :
-~ 1=
J . 225.4 s
h - ~ § 3/8"-16UNCx0.75 DEEPx4 Shaft torque limits (cc/rev*bar)
/ - (M10x19) Pump Shaft |Vp x P max.
Shaft Code 5 Shaft Code 4 Shaft Code 3 1/2"-13UNCx0.88 DEEPx4 1 16500
SAE BB splined shaft ~ SAE B splined shaft (M12x22.4) . 2 14300
Class 1-J498 16/32 d.p. Class 1-J498 b 16/32 d.p. 3 20600
-15 teeth 30° pressure  -13 teeth 30° pressure 4 20600

angle flat root side fit.  angle flat root side fit.

KT6C Power loss

h hani typical
R lChul e Ty ol ) KT6C Permissble radial load

5
—.—n= 2800 RPM 140 “TF
41 ||ommae n= 1500 RPM [24 cSt] -
s —n= 1000 RPM b = o
S - Shaft Keyed NO.1
— '_.1
g 3 =T s .
3 T 5 o
<1 -] g
g, L. . 600
ao- 1 J B R S -—_-____..---——---- 400
R 200
— 600 1000 1200 1500 1800 2000 2500 2800

0 Speed n [RPM]

! % N 105  WIRIBIN0 210 20 25 Maximum axial load permissible Fa =800 N
Pressure p [bar]

P110




DOUBLE LIPS AND PISTON TYPE
SINGLE VANE PUMP

KT6D Shaft Code 1 Unit:mm
@26 SPOTFACER (Keyed SAE C)
2-@17.5 HOLES o
KEY 7.94 %0
S Fikias 184.9 83.6
ﬁ . 874 _881| 127 M10x20 DEEP
— ! \ - U 49.3 /
N | B
B
3
8
~ = _( 25
i o i i s - W
N |8
5 -
o9
B L
wn
[+r]
55.2 777 4
— — KEY 7.94 3§
38.1 48 732 Ll
2.3 | 2.3 38.1
o —~ : . B Shaft Code 2
T-—-4+-— —»-~|}———— 3 (Keyed no SAE)
n a — -
N ]
M ) . @318 <° Shaft torque limits (cc/rev*bar)
Shaft Code 3 Shaft Code 4 o a = Pump | Shaft |VpxP max.
SAE splined shaft Class NO SAE splined shaft 8 1 43283
1-J498 b 12/24 d.p. -14 Class 1-J498 b 12/24 2 34590
P o o 1/2"-13UNCx0.94 DEEPx4 \ 7/16"-14UNCx0.88 DEEPx4 KT6D
teeth 30 .pres.sure angle d.p. -14 teeth 30 (M1"2x23_9) = (M12x22.3) 3 61200
flat root side fit. pressure angle flat root 4 61200
side fit.
KT6D Power loss
hydromechanics (typical) KT6D Permissible radial load
6
—-=n=2800 RPM
..... n= 1500 RPM [24 cSi]
5| —n- 1000 RPM /
//
P Il et ot S 0 7
=3 T = /]
= = Shaft Keyed NO.1 r
¢ 3 L 1000 //
3 § 800 4
- o |
5 2 L = 600 yd
g _____________ - et """ 400
& 1 — |
200
500 10001200 1500 1800 2000 2500
0
0 35 70 105 140160175 190 210 240 Spescin TREM)

Pressure p [bar] Maximum axial load permissible Fa = 1200 N

P111




DOUBLE LIPS AND PISTON TYPE
SINGLE VANE PUMP

KT6E Shaft Code 1 Unit:mm
(Keyed SAE C-C)
225.3 90.9 KEY 9.52 "%,
213 ©26 SPOTFACER 110 52.3 50.8 —

181 2-@17.5 HOLES | i

' L L1 M10x20 DEEP
@ ] /

— 1
42.36

l

1

|

l

|

| |

Il

l

i

f
[
038 s

| H T KEY 7.94 *0s
" Shaft Code 2
7 E - (Keyed no SAE)
| | | | |
;—1'9“‘ \ IShaft torque limits (cc/rev x bar),
1/2"-13UNCx0.92 DEEPx4
Shaft Code 3 Shaft Code 4 T miz2sa) Pump | Sheft |Vpx P mex.
SAE C Splined shaft calss  SAE C-C Splined shaft 17.5 12.2 7 e
1-J498b 12/24dp.-14  class 1-J498 b 12/24 B 61.9 2 54590
teeth 30° pressure angle  d.p. -17 teeth 30° e 3 00
flat root side fit. pressure angle flat 2 61200
root side fit.
KT6E Power loss
hydromechanics (typical) KT6E Permissible radial load
6 = =
—.=n= 2800 RPM 2600 E
5 |====n=1500 RPM [24 cS] -
g n=1000RPM L. dodeet=-T"1 3200 | e -
£ 4 o e Shaft Keyed NO.1 7
L — 2800 -
o S O E
g 3= e s E W 2400
- am== T 2000
B 2 3
3 — 1600
o
1 1200 -
0 800
0 38 70 105 140 160175190 210 240 400

500 1000 1200 1500 1800 2000 2200

Speed n [RPM]
Maximum axial load permissible Fa = 2000 N

Pressure p [bar]

P112




DOUBLE LIPS AND
PISTON TYPE SINGLE symeel
VANE PUMP

How to order
KT6DS -014-1 R00-B 1
1 2 3 4 6 7

5
1 Model
2 Cam ring
3 Shaft type
4 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

S=Suction port

5 Porting combination  00: Normal
g P=Pressure port
6 Design Letter
7 Seal class  1: S1 (for mineral oil) ~ 4: S4 (for fire resistant fluids)  5: S5 (for mineral oil and fire resistant fluids)
. Delivery (Ipm) Input Power (kw) Runing .
Model Series Displacement At 1500 rpm At 1500 rpm Max. Pressure Speed (rpm) Weight
(cc/rev) (bar) (k)
p=0 bar | p=140 bar | p=240 bar p=140 bar g
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2 87.3 78.0 71.8 25 22.2 37
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7
024 79:5 119.3 110.0 103.8 3.0 29.6 49.8 2800
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9 280
031 98.3 147.5 138.1 131.9 33 36.2 61.0
KT6DS 035 111.0 166.5 157.2 151.0 3.5 40.7 68.7 600 2
038 120.3 180.4 1711 164.9 3.7 43.9 74.3
042 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045 145.7 218.2 209.2 203.0 4.1 52.8 89.5 2500
050 158.0 237.0 227.7 224.0 4.4 57 85.0 230
061 190.5 285.7 278 - 4.6 60.6 - 140
Port connection can be furnished with metric threads, normally UNC.
213 ; Unit:mm
KT6DS 1849 8.6
oll4s | 874 381 127 0
—— | KEY 7.94 0,05
jZNmu 11 - \ '/ M10x20 DEEP
i 2 49.3
& 1 Y
L -
s G 8 - == 8 Shaft Code 1
2.017.5./ d © (Keyed SAE C)
I_ Fq g
23xag] Bl §
4-914. wld3xase gl
55.2 717
7/16" 14UNC x 0.88 DEEP
1/2" 13UNC x 0.94 DEEP  (M12 x 22.3)!
23 x45° 23x45° R 22x2=8) \ o
| - « Shaft Code 2
- KEY 7.94
| | 1 005 (Keyed no SAE)
- -3 /
Shaft Code 3 Shaft Code 4 A ' Shaft torque limits (cc/rev x bar),
SAE C Splined shaft calss NO SAE Splined shaft class N Pk / B ’ Pump | Shaft |VpxP max.
1-J498b 12/24 dp. 14 1-J498 b 12/24 d.p. -14 o1& Bxagll E: 1| as28s
teeth 30° pressure angle teeth 30° pressure angle - 8l S 2 34590
flat root side fit. ide fi | 1 2@
flat root side fit. - SHI - ] P j z:zgg

P113




DOUBLE LIPS AND
PISTON TYPE SINGLE
VANE PUMP

How to order

KT6GC -022-6 R00-A1-00 3%
1 2 3 4 5 6 7 8
1 Model
2 Cam ring
3 Shaft type  6: splined (DIN 5462)
4 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

S=Suction port

5 Porting combination  00: Normal
P=Pressure port
6 Design Letter
7 Seal class  1: S1 (for mineral oil)
8 Port size  00: Flange 1" BSPP  01: Flange 1" SAE 4 bolts (UNC)  Mf1: Flange 1" SAE 4 bolts (METRIC)
9 Modifications

Specifications

- Delivery (Ipm ) Input Power (kw)
Model Series DiS gg/‘l’,g?)e“t At 1500 rpm At 1500 rpm Max. (ﬁrae)ssure Speed (rpm) W(elg)ht
p=0 bar | p=140 bar | p=240 bar | p= p=140 bar |p=
003 10.8 16.2 10.7 1.3 5.3
005 17.2 25.8 20.3 15.8 1.4 7.5 12.2
006 21.3 31.9 26.5 22.0 1.5 8.9 14.7
008 26.4 39.6 34.1 29.6 1.6 10.7 17.7
010 34.1 51.1 45.7 41.2 1.7 13.4 223
012 37.1 55.6 50.2 45.7 1.7 14.4 241 300 3000 600
KT6GC 014 46.0 69.0 63.5 59.0 1.9 17.6 29.5 17
017 58.3 87.4 82.0 77.5 21 21.9 36.9
020 63.8 95.7 90.2 85.7 2.2 23.8 40.2
022 70.3 105.4 100.0 95.5 2.3 26.1 441
025 79.3 118.9 113.5 109.0 25 29.2 49.5
028 88.8 133.2 127.7 124.5 2.8 32.7 48.5 250 2800 400
031 100.0 150.0 144.5 141.3 2.8 36.5 54.2
Not to use because internal leakage greater than 50% theoretical flow.
KT6GC Unit:mm
2155 55.0
—11—3.0x30°
£ £ RLEs : 1/2-13 UNCx0.9 DEEP-4 HOLES
120 @ CODE 00 (M12x22.4) 3,6 15 UNCx0.75 DEEP-4 HOLES
= — 25.96-0.01 e 35.8 26.2  [(M10x19)
g M oL i ]
3@ @ _l/n_\\ N g Q/
ol YT ol R o ©
(IS gl |3 o3 2 o f : ——
& =3 o S S I
o 3 2 S :
NAE %—[ & N2
P g G &
—119.0
40.0 | 40.0 214.0 s 36.8 28.2°015 25.4BSPP @38.1 9254
117.6 (kIR

DRAIN HOLE BETWEEN TWO
SHAFT SEALES

Shaft Code 6
(DIN 5462) B8x32x36

P114




DOUBLE LIPS AND PISTON
TYPE SINGLE VANE PUMP

Symbol

KT7B, KT7BS-010-1R00-A1-00
1 2 3 4 5 6 7 8
1 Model KT7B series-100 A2 HW  ISO 2 bolts 3019-2 mounting flange ~ KT7BS series-SAE B 2 bolts  Mounting flange J744

3 Shafttype KT7B-KT7BS 2-Keyed (ISO R775), KT7BS 1-Keyed (SAE B), 3-Splined (SAE B), 4-Splined (SAE BB)

S=Suction port
P=Pressure port

5 Porting combination  00: Normal

7 Seal class  1: S1 (for mineral oil) ~ 4: S4 (for fire resistant fluids)  5: S5 (for mineral oil and fire resistant fluids)

UNC KT7BS | Metric KT7B-KT7BS
PORT
00 01 MO M1
P 1" 3/4" 1" 3/4"
S 11/2"

Specifications

v . Displacement Delivery (Ipm) Input Power (kw) Max.Pressure Max. Speed Weight
odel Series (cc/rev) At 1800 rpm At 1800 rpm (bar) (rpm) (kg)
002 5.7 10.4 8.8 6.5 0.55 2.99 6.40
003 9.8 17.6 15.9 13.7 0.63 4.65 10.25
004 12.8 23.0 21.4 19.2 0.70 5.89 13.13
005 15.9 28.6 26.9 24.7 0.76 717 16.12
006 19.8 35.6 33.9 31.7 0.84 8.79 19.88
007 22,5 40.4 38.8 36.5 0.89 9.91 22.47
&E:S 008 24.9 447 43.1 40.9 0.94 10.9 24.78 820 8600 187
009 28.0 50.3 48.6 46.4 1.01 12.19 27.77
010 31.8 57.2 55.5 53.4 1.1 13.75 31.42
011 34.9 62.9 61.2 59.0 1) 1.15 15.04 32.22 1)
012 40.9 73.7 72.1 70.1 1) 1.28 17.56 37.711)
014 45.1 80.8 79.2 77.01) 1.36 19.23 41.37 1)
015 50.0 89.8 88.3 86.52) 1.47 21.28 42.76 2)

1)011, 012, 014: 300 bar Max. int  2)015: 280 bar Max. int

P115




DOUBLE LIPS AND PISTON
TYPE SINGLE VANE PUMP

Unit:mm
KT7BS
! 71.
1745 169.1 1.6
. F 823 _ 381/97 KEY 6.35 2o
72 M8 x 16 DEEP
) _g_ 2635 S
~ H
//////r»—-\\\\\\\ 2 =
~ ~ f g
& @ A = 14 . g %3
/R : - I
oH — = S| « =
/ || 15x45° 2% §
- wvy
) ' n S %
1.3 x45° 8
MOUNTING TORQUE 138ft.Ib
KT7B UNTING TOROUE 13881bs Shaft Code 1
(180Nm)
(Keyed SAE B)
12.7
70.1
J: 9.9 Key 8.0/7.0
39.8
Shaft Code 3 Shaft Code 4 | o
SAE B Splined shaft calss SAE BB Splined shaft =) — 7
1-J498 b 16/32 d.p. -13 class 1 - J498 b 16/32 = I 2
teeth 30° pressure angle d.p. -15 teeth 30° " g f: A
flat root side fit. pressure angle flat 1.5 x 45° +o' =R
root side fit. S| o -
vl o
/ FT20x45° o E
A x0.75 (19)DEEP-4 HOLES
KT7BS KT7B B x 0.88 (22.4)DEEP-4 HOLES Shaft Code 2
00 o1 Mo M1 (Keyed ISO R775)
A 3/8-16 UNC M10
B 1/2-13 UNC M12
© 1.03 (26.2) | 0.874 (22.2) | 1.03 (26.2) |0.874 (22.2) Shaft torque limits (cc/rev x bar)
D 2.06 (52.4) | 1.874 (47.6) | 2.06 (52.4) |1.874 (47.6) Pump Shaft | VpxP max.
oE | 1.00 (25.4) | 0.75 (19.05) | 1.00 (25.4) |0.75 (19.05) 1 16516
F 5.75 (146.0) 5.51 (140.0) 2 20620
KT7B
G 2.87 (73.0) 2.75 (70.0) 3 20620
oH 0.56 (14.3) 0.55 (14.0) 4 20620

P116




DOUBLE LIPS AND PISTON
TYPE DOUBLE VANE PUMP

Symbol

How to order
KT6CC-W-002-008-1R00C-100
1

2 45 6 7 8 9
3
1 Model KT6CC (KT6C+6C) KT6DC (KT6D+6C) KT6EC (KT6E+6C) KTBED (KT6E+6D)
2 W: Use for severe duty shaft only KT6CC-W: Code 2, S  KT6DC-W: Code 5
3 Cam ring for P1 & P2
4 Shaft type
5 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise
6 Porting combination  00: Normal
7 Design letter
8 Seal class 1: S1 (for mineral oil)  4: S4 (for fire resistant fluids)  5: S5 (for mineral oil and fire resistant fluids)
Weight KT6CC: 26kg KT6DC: 36.6kg KT6EC: 55kg KT6ED: 66kg
9 Mounting W/connection variables
P1=1",$=3"| P1=1",S=21/2"? UNC Metric
KT?:SC 1" 3/4" " |4" 3/4" " : 1) for 46 cc/rev. max. KT6DC 00 o1 MO M1
CogolUMe 00 jo1 |10 11 2) for 126 co/rev. max. P2 SER - V2 E E 28
Metric|OM (WO [1M WA

Specifications

Model  Pressure o.... Displacement Delivery (Ipm) At 1500 rpm nput Power
Port (cc/rev) P=0 bar | P=140 bar P=240 bar | P=7 bar | P=140 bar | P=240 bar

003 10.8 16.2 10.7 1.3 5.3
005 17.2 25.8 20.8 17.3 1.4 7.5 12.2
006 21.3 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4 39.6 34.6 31.1 1.6 10.7 17.7
010 341 51.1 46.1 42.6 1.7 13.4 22.3
012 37.1 55.6 50.6 471 1.7 14.4 241

KT6CC P1 & P2 014 46.0 69.0 64.0 60.5 1.9 17.6 29.5
017 58.3 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8 95.7 90.7 87.2 2.2 23.8 40.2
022 70.3 105.4 100.4 96.9 2.3 26.1 441
025* 79.3 118.9 118.9 1104 25 29.2 49.5
028* 88.8 133.2 128.2 125.8** 2.8 32.7 48.5%*
031* 100.0 150.0 145.0 142.6** 2.8 36.5 54.4%*

*025-028-031=2500 R.PM. max. ~ **028-031=210 bar max.int. ~ Port connection can be furnished with metric threads, normally UNC.

P117




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

Specifications

Model Pressure Port Series Displacement Delive 500 rpm Input Power (kw)
(cc/rev) P=0 bar  P=140 bar | P=240 bar  P=7 bar P=140 bar P=240 bar
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2 87.3 78.0 71.8 25 222 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 4.7
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9
- 031 98.3 147.4 138.1 131.9 313 36.2 61.0
035 111.0 166.5 157.2 151.0 35 40.7 68.7
038 120.3 180.4 171.1 164.9 37 43.9 74.3
042* 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045* 145.7 218.5 209.2 203.0 4.1 52.8 89.5
050* 158.0 237.0 227.7 224,0% 4.4 57.0 85.0*
061* 190.5 285.7 278* - 46 60.6* -
KeDC
005 17.2 25.8 20.8 17.3 1.4 75 12.2
006 21.3 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4 39.6 34.6 31.1 1.6 10.7 17.7
010 34.1 51.1 46.1 42.6 1.7 13.4 22.3
012 37.1 55.6 50.6 47.1 1.7 14.4 24.1
po 014 46.0 69.0 64.0 60.5 1.9 17.6 29.5
017 58.3 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8 95.7 90.7 87.2 22 23.8 40.2
022 70.3 105.4 100.4 96.9 2.3 26.1 44.1
025 79.3 118.9 113.9 110.4 25 29.2 49.5
028* 88.8 133.2 128.2 125.8* 2.8 327 48.5*
031* 100.0 150.0 145.0 142.6* 2.8 36.5 54.4*
042 132.3 198.5 188.5 181.3 5.2 49.4 82.6
045 142.4 213.6 203.6 196.5 5.4 52.9 88.7
050 158.5 237.7 227.7 220.6 5.7 58.5 98.3
052 164.8 247.2 237.2 230.1 5.8 60.8 102.1
P1 057 180.7 27141 261.1 254 6.1 66.4 106.9
062 196.7 295.0 285.0 277.9 6.4 71.9 121.3
066 213.3 319.9 309.9 302.8 6.7 77.7 131.2
072 227.1 340.6 330.6 3235 6.9 82.6 139.5
085* 269.8 404.7 397.7* - 7.3 97.4* -
005 17.2 25.8 20.8 17.3 1.4 75 12.2
KT6EC 006 21.3 31.9 26.9 23.4 15 8.9 14.7
008 26.4 39.6 34.6 31.1 1.8 10.7 17.7
010 34.1 51.1 46.1 42.6 1.7 13.4 22.3
012 37.1 55.6 50.6 47.1 1.7 14.4 241
po 014 46.0 69.0 64.0 60.5 1.9 17.6 29.5
017 58.3 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8 95.7 90.7 87.2 22 23.8 40.2
022 70.3 105.4 100.4 96.9 2.3 26.1 441
025 79.3 118.9 113.9 110.4 25 29.2 49.5
028* 88.8 133.2 128.2 125.8* 2.8 327 48.5*
031* 100.0 150.0 145.0 142.6* 2.8 36.5 54.4%

For KEDC  *042~061=2200 rpm max. 028, 031, 050=230 bar. 061=140 bar max int.
For KBEC  *085=2000 rpm max. 028, 031=230 bar. 085=120 bar max int.
Port connection can be furnished with metric threads, normally UNC.

P118




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

Specifications

Model  Pressure g ... Displacement ivery (Ipm) At 1500 rpm
Port (cc/rev) P=140 bar | P=240 bar | P=7 bar P=140 bar P=240 bar

042 132.3 198.5 188.5 181.3 52 49.4 82.6
045 142.4 213.6 203.6 196.5 5.4 52.9 88.7
050 158.5 237.7 227.7 220.6 5.7 58.5 98.3
052 164.8 247.2 237.2 230.1 5.8 60.8 102.1
P1 057 180.7 271 1 261.1 254 6.1 66.4 106.9
062 196.7 295.0 285.0 277.9 6.4 71.9 121.3
066 213.3 319.9 309.9 302.8 6.7 77.7 131.2
072 2271 340.6 330.6 323.5 6.9 82.6 139.5

085 269.8 404.7 397.7 - 7.3 97.4 -
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6

KT6ED 017 58.2 87.3 78 71.8 2.5 22.2 37
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9
P2 031 98.3 1475 138.1 131.9 3.3 36.2 61.0
035 111.0 166.5 157.2 151.0 &5 40.7 68.7
038 120.3 180.4 1711 164.9 3.7 43.9 74.3
042* 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045* 145.7 218.5 209.2 203.0 41 52.8 89.5
050* 158.0 237.0 227.7 224.0* 4.4 57.0 85108

061* 190.5 285.7 278 - 4.6 60.6 -

*042~061=2200 rpm max. 050=230 bar, 061=140 bar max. int.  Port connection can be furnished with metric threads, normally UNC.

Permissible radial load

KT6CC KT6EC
L. = =
1800 [ F //
— — 1600 Fa P
= £ Shaft Keyed NO.1 /
= w1400 4
Y 800 B 1200 //
2 3 A
g & 1000 7
= 400 - 800
600
200 oo Ll
s e ) s 600 1000 1200 1500 18002000 2500 2600
Speed n [RPM] ‘ ~ Speed n [RPM]
Maximum axial load permissible Fa = 800 N Maximum axial load permissible Fa = 2000 N
KT6DC - - KT6ED
2000 ‘-I
1800 F ] // el
= 1600 - p—— v . e
< Shaft Keyed NO. 1 v = .
w1400 = o o
E 1200 7 '§
2 1000 = -
800 P
-
600 /
4
400 600 1000 1200 1500 1800 2000 2200
600 1000 1200 1500 1800 2000 2500 2600
Speed n [RPM] Speed n [RPM]
Maximum axial load permissible Fa = 1200 N Maximum axial load permissible Fa = 2000 N

P119




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

KT6CC oC(I"er 347 SBT212Y oo, Shaft Code 1 Unit:mm
11?425 F—— . 7 0254 - : (Keyed no SAE)
- g — = KEY 4.762 pos
L 317
\_@ K
(N
7N Pany 7N g
S o
2-0 14.3 HOLES 3| §
8 Shaft Code 2
/ 3/8-16 UNC x 0.75 DEEP (Keyed SAE BB)
K -4 HOLES T
5 265.6
£ 407 882 1016 _ 38 =Ll
.45 Shaft Code 3 Shaft Code 5 Shaft Code S el B “0
= SAE BB Splined shaft |1245| . SAE B Splined shaft = DIN 5462 : 9.7 AV lchaily
calss 1-J498 b 16/32 class 1-J498 b S; B8x32x36 L~ | me M8x16 DEEP
d.p. -15 teeth 30° 16/32 d.p. -13 teeth P o al [ | 3 o
pressure angle flat 30° pressure angle 003 =
root side fit. flat root side fit. £
231.89 002 o
®l g
Alternate Port ]
S=3 S=20124 OUNTING TORQUE 45 ft lbs
F 106.4 88.9 (61 Nm)
G 61.9 50.8
oH 76.2 63.5
Code 00 o1 oM Wo 10 1 M w1 Shaft torque limits (cc/rev x bar)
A 52.4 47.6 52.4 47.6 52.4 47.6 52.4 47.6 Pump | Shaft |Vp x P max. P1+P2
B 26.2 222 26.2 22.2 26.2 22.2 26.2 222 T 12300
2C 25.4 19.0 25.4 19.0 25.4 19.0 25.4 19.0
D 74.7 76.2 74.7 76.2 74.7 76.2 74.7 76.2 KTeCC 2 21420
E | 3/8"-16UNCx19 deep M10x19 deep 3/8"-16UNCx19 deep M10x19 deep 3 32670
K [5/8"-11UNCx28.4 deep| M16x28.4 deep  [1/2'-13UNCx23.9 deep| M12x24.0 deep 5 20600
KTeDC 2124 286 83.6 0 Unit:mm
1095 1143 381 ADELE
VA T -
by o |4 .,_I T M10x20 DEEP
R =% Shaft Code 1
2-817.5 HOLE “ " 23| = (Keyed SAE C)
©26 SPOTFACER OUNTING TORQUE S0ftibs  yhlr 2l g
(68 Nm) - ala
(187 Nm) Y
3/8"-16UNC x 0.75 DEEP
KEY7.94 +0 (M10x19) TEH
-0.05 62.0 302
55.2 7.7 833 —
m 7 ~—489] /M8 x 16 DEEP 1 r- —
| ® -
| 2.3 x 45° / 38.1
— e - @ e [-—* KEY7.94
IE I \ 1 y 2
= al % / 7
1 ?g = ® ?3 &
- E g P ) Fd °
a 5/8"-11UNC x 1.12 DEEP / a
= (N’l(l6x28,4) [ML/@&L g
Shaft Code 3 Shaft Code 4 KT6DCW 7/16"-14UNC x 0.88 DEEP
: . = (M12x22.3) Shaft Code 2
SAE C Splined shaft NO SAE Splined shaft Shaft code5 Shaft torque limits (cc/rev x bar) (Keyed no SAE)
calss 1-J498 b class 1-J498 b 12/24  (Keyed no SAE) Pump |Shaft|Vp x P max. P1+P2 y
12/24 d.p. -14 teeth d.p. -14 teeth 30° 1 43240 Alternate connect. variables
30° pressure angle pressure angle flat 2 34590 00 & Mo 01 & M1
flat root side fit. root side fit. KTeDC| 3 61200 A | 1.031 (26.2) | 0.874 (22.2)
a 61200 B | 2.06 (52.4) | 1.874 (47.6)
5 55600 C | 1.0(25.4) | 0.75(19.05)

P120




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

KT6EC Unit:mm

+)
213 " 136.7 118.5 I52.1 90.9 KEY9.52 -0.05
12.7

1 50.8)/ MI10x20 DEEP

g | 3'_
S| 1€ g | = /
Ja "R 7
U o g: o ST %
2-617.5 HOLE - 2 G- i
0o |
/MOUNTING TOROUE s0fLbs <l Shaft Code 1
MOUNTING TORQUE {38ft.lbs 68 Nm) (Keyed SAE CC)
( m
1/2"-13UNC x 0.92 d
" 7 Mi2x23.4) +0
S. 29 3/8"-16UNC x 0.75 deep /| 619 KEVI.94 s
38.1 31.5
g ] 38.1
7 g
I £
~
g = Shaft Code 2
3 eq © (Keyed no SAE)
a ] —
Shaft Code 3 Shaft Code 4 L / | E Shaft torque limits (cc/rev x bar)
SAE C Splined shaft calss SAE CC Splined shaft e 166@/ 2 88.9 f 17.5 ® Pump | Shaft [Vp x P max. P1+P2
1-J498 b 12/24 d.p. -14 class 1-J498 b 12/24 = (Ml:x.29 5 237.1 1 72306
teeth 30° pressure angle d.p. -17 teeth 30° ’ 2 34590
flat root side fit. pressure angle flat KTEEC 3 61200
root side fit. 4 76376
KT6ED Unit:mm
213 361 KEY9.52 ‘s

ij 148.2 133.5 523|909

b4
2 g (3
s =
o 31| A
17,5 HOLE \/ 1 1¥  Shaft Code 1
2-917. 2 = (Keyed SAE CC)
MOUNTING TORQUE 138ft.lbs F 2
(] 87 Nm) MOUNTING TORQUE 138ft.Ibs s
(187 Nm) 175
55.9 622 302 77.8 gf:;_fr,__" 61.9 -
_ L e 12.7 KEY7.94 -0.05
38.1 315 —® [ [F
| 38.1
| [ B N 6o
~ o S @ \
5 L
I | & ofo] = k/ €V - Shaft Code 2
® ed 8 (Keyed no SAE)
| a —he Sl | @
15 29.5 \ \] ;
Shaft COde 3 Shaft Co_de 4 s/gn11 DEEP @37. ® Shaft torque limits (cc/rev x bar)
SAE C Splined shaft calss SAE CC Splined shaft “(M16 % 1/2*-13UNC x 0.92 DEEP | Pump [Shaft [Vp x P max. P1+P2
1-J498 b 12/24 d.p.-14 class 1 -J498 b 12/24 T 2 e (M12 x 23.5) 1 72306
teeth 30° pressure angle  d.p. -17 teeth 30° 2MUNC x 0. P 2 34590
pres (M12 x 24) KT6ED 40
flat root side fit. pressure angle flat 3 61200
root side fit. 4 76376

P121




DOUBLE LIPS AND PISTON
TYPE DOUBLE VANE PUMP

m: Symbol

How to order

KT6GCC - 022 - 008 -6-R-00-A 1-00 - 3
1 3 4 5 6 7 8 9
2
1 Model KT6GCC (KT6GC+KT6GC)

The large cartridge must be always mounted in the front.

2 Cam ring P1 & P2
3 Shafttype  6: splined (DIN 5462)
4 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise
5 Porting combination  00: Normal
6 Design letter
7 Seal class  1: S1 (for mineral oil)
8 Port size
P1=1"8=3" P1=1"S=21/2" ?
P2 i 3/41: 1) " 3/4n 1)
UNC 00 01 10 11 1)for 46cc/rev.max.
Code
Metric oM Mo M M1 2)for 126cc/rev.max.

9 Modifications weight: 28 kgs

Port combinations

00 01 02 03
P1-P2 S-P1-P2  P1-P2

P122




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

Specifications

: Input Power (kw) At 1500 Runing
- Delivery (lpm) At 1500 rpm
Pressure ... Displacement y (Ipm) P rpm Max.  gpeed (rpm)
Model Port Series Pressure
or (cc/rev) p=140 p=240 p (bar)
bar bar
003 10.8 16.2 10.7 1.3 5.3
005 17.2 25.8 20.3 15.8 1.4 7.5 12.2
006 21.3 31.9 26.5 22.0 15 8.9 14.7
008 26.4 39.6 34.1 29.6 1.6 10.7 17.7
010 34.1 51.1 45.7 41.2 1.7 13.4 22.3
3000
012 371 55.6 50.2 45.7 1.7 14.4 241 300
KT6GCC| P1&P2 014 46.0 69.0 63.5 59.0 1.9 17.6 29.5 600
017 58.3 87.4 82.0 77.5 2.1 21.9 36.9
020 63.8 95.7 90.2 85.7 2.2 23.8 40.2
022 70.3 105.4 100.0 95.5 2.3 26.1 441
025 79.3 118.9 113.5 109.0 25 29.2 49.5
028 88.8 133.2 127.7 124.5 2) 2.8 32.7 48.5 230 2800
031 100.0 150.0 144.5 141.32) 2.8 36.5 54.2
Not to use because intenal leakage greater than 50% theoretical flow.
Unit:mm
319.1 55.0
281.7 37.85  [3.0x30°
193.6 +0
M12x20 DEEP 92.0 -95-01
! 0
25.96 0 01
— +0
- / 2\ 08.270 15
3 g o g a
1 : h A ? ; 8
sl g £ — o %5
@© - H { I = =
@
bl
~
_Llso
36.8
Shaft Code 6
o14 @C E-4HOL E-4HOLES DIN5462B8 x 32 x 36
4HOLES
B 15.0max.
M10x19
Port A B @ D E @ r 1
& 5/8-11UNC X 1.12 B :
s @) |106.4| 61.9 | 76.2 i ey i @% =
. 1/2-13 UNC X 0.94
S(21/2"| 88.9 | 50.8 | 63.5 52 oo y .J m "
P2 (3/4") | 47.7 | 22.2 | 19.0 | 76.2 | 3/8.16UNC X 0.75 "1_ E T
P2 (1") | 52.4 | 26.2 | 25.4 | 74.7 | (M10X 19.0 deep) -
Shaft torque limits (cc/rev x bar) J -
Shaft Vp x P max.(P1+P2) Z 26.2]
5 o670 MOUNTING TORQUE 45ft.Ibs — 25.4
(61 Nm)
MOUNTING TORQUE 117ft.Ibs
(159 Nm)

P123




DOUBLE LIPS AND PISTON
TYPE TRIPLE VANE PUMP

Symbol

How to order
KT6DCC -038-022-008-1-R-00-A1-00- 3%
4 6 7 8

1 3 5 9
2

1 Model KT6DCC (KT6D+KT6C+KT6C)
2 Cam ring P1 P2 P3
3 Shaft type
4 Shaft rotation  R: Clockwise L: Counter-clockwise
5 Porting combination  00: Normal
6 Design letter
7 Seal class  1: S1 (for mineral oil)  4: S4 (for fire resistant fluids)  5: S5 (for mineral oil and fire resistant fluids)
8 Port size

UNC Metic

00 01 Mo M1

P3 1" 3/4" 1" 3/4"

9 Modifications weight: 65 kgs

Port combinations

00 01 02
P1-P2-P3 P1-P2-P3 S-P1-P2-P3
neeE

P124




DOUBLE LIPS AND PISTON TYPE
TRIPLE VANE PUMP

Specifications

Input Power (kw) At 1500 Runing Speed

Delivery (Ipm) At 1500 rpm

Pressure Cam Displacement Max. (rpm
Model Port Ring (cc/rev) P p=140 p=240 p=7 Pr(ebsasrt)lre
bar bar bar

014 47.6 71.4 62.1 55.9 23 18.5 30.6
017 58.2 87.3 78.0 71.8 25 222 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 417
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9
P1 031 98.3 147.5 138.1 131.9 33 36.2 61.0
035 111.0 166.5 157.2 151.0 35 40.7 68.7
038 120.3 180.4 171.1 164.9 37 43.9 74.3
042 1) 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045 1) 145.7 2185 209.2 203.0 44 52.8 89.5

050 1) 158.0 237.0 227.7 224.02) 4.4 57.0 85.02)

003 10.8 16.2 10.7 1.3 5.3
KT6DCC 005 17.2 25.8 20.3 15.8 1.4 75 12.2 800 2800 600

006 21.3 31.9 265 22,0 1.5 8.9 14.7
008 26.4 39.6 34.1 29.6 1.6 10.7 17.7
010 34.1 51.1 45.7 41.2 1.7 13.4 22.3
012 37.1 55.6 50.2 45.7 1.7 14.4 24.1
P2-P3 014 46.0 69.0 63.5 59.0 1.9 17.6 295
017 58.3 87.4 82.0 775 241 21.9 36.9
020 63.8 95.7 90.2 85.7 2.2 23.8 40.2
022 70.3 105.4 100.0 95.5 23 26.1 44.1
025 79.3 118.9 1135 109.0 25 29.2 495

028 88.8 133.2 127.7 124.59) 2.8 327 4859

031 100.0 150.0 144.5 141.3 9) 2.8 36.5 54.29)

1) 042-045-050=2500 rpm max. 2) 050=230 bar max. int. ~ 3)028-031=230 bar max. int.

Dimensions

2125 404.0 836 Unit:mm
0 844 119.3 138.0 384|127
610 6.35MAx|
e [ 79l +0
NO.4 Shaft J 1 2t 493 Key 6.35-0.05
i SAE CC splined shaft g o § —
i 315/ Class I-J498 b 12/24 d.p. W o 5 = = § ! 3
-17 teeth 30° = N = 7 — &
pressure angle flat root D f@ :|§ ~ E’g g g’ g
7 side fit K o S A ]
j 2.3x45° N S a2 "

_1.3x45°
MOUNTING TORQUE 187 Nm
MOUNTING TORQUE 187 Nm MOUNTING TORQUE 68 Nm NO 1 Shaft (keyed no SAE)

M12x22.4 DEEP 4-HOLES

52 M10x19.0 DEEP 4-HOLES e ! 89.7
T (3/8-16 UNCx0.75) ___ M16x30.0 DEEP 4-HOLES imi
-+-7.9 NO.3 Shaft (3/8-16 UNCx0.75) W Shaft torque limits (cc/rev x bar)
SAE C splined shaft B 2 77.8 ey 52 70 Shaft | Vp x p max.(P1+P2+P3)
5 < -0.05
| Class 1-J498 b N - 1 43240
all_ss-o 12/24 d.p.-14 teeth 30° Hi= 2 66500
q i / 3 61200
pressure angle mﬁ: B o
flat root side fit < o 8 o 4 66500
-~ ) 1
4 s — =
R = PORT| CODE | A B (o]
= 23x45° §
loc D254 31 P3 |00&MO|52.4 | 26.2 | 25.4
enm 6 01 &M1|47.6 | 22.2 | 19.0

M10x19.0 DEEP 4-HOLES
(3/8 -16 UNCx0.75)

NO.2 Shaft (keyed SAE CC)

P125




